HW 4.3 Key

1. 6
Let X be a continuous random variable with probability density function given by f(x)=Ex(5—x) for
0 <x <5, and 0 otherwise. Find Var[X]. bx lox?>
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Let X be a continuous random variable with probability density function given by f(x)—Tx e
if x>0, and 0 otherwise. Find E[X]
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. Let T denote the time in years until failure for a new electrical component in a machine. Assume that T follows a
1 .
continuous distribution with pdf given by f(f) = ate /8 it t>0,and@ otherwise. The component will be

replaced when it fails, or after 11 years, whichever occurs first. Let X denote the amount of time passed until the

component is replaced. Find E[X] )
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4. Let X be a continuous random variable with probability density function given by f(x) =2x7 if x> 1,and0

otherwise. Let Y=4\/Y.Find Var[Y].
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5. Let X be a continuous random variable with probability density function given by f(x) =09x7™" if x> 1,

and 0 otherwise. Let Y = ln(X6). Find E[Y]
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